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Please make sure that the printed pages in this question paper are 1§ in number
and it contains 30 questions.

o Y9T-7¥ 4 qlleT &Y @ I [ T8 FE TEC 7O G2 # G FTO-Yaw % FEI-IT 9
fergy

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o Y F97 B TV [GT @ BT G YEe, JIT H FHF I ferdd

Before beginning to answer a question, its Serial Number must be written.

o FUT-YikaH % = @l g,/ 9 7 881

Don’t leave blank page/pages in your answer-book.
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o FT-YRTH B SIRFT HF o 9T Tel A o SEvIEagEr & g st frar Fav T
FI2]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

o GOEE YA U To FIT-TH YT Favq [rd) W To & HAIRFT FIT-YH YT 5 F8 A T
ford oitr dmloues 7971 & IR 9T bl T T R T

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
type questions.

o YT 49 % GUT @7 @ g4 78 GhAkEd &7 @ [ ge7-94 {7 7 @& 8, qhEr & I 59
G 4 Fig 4 qar @we T8 B T

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

T 39T -
(i) & Jo7 A &
(i) JF F97 & 3% 3G THT 9T T &
(iii) 797 G 1 & 15 7% TFGITT FHX % 597 &1 Jo% J97 1 375 & &1
(iv) 797 G&I1 16 @ 21 T HIITg FTNT J97 &1 J9% 597 2 S7H #T 81
(v) 797 @& 22 @ 27 TF TG FTUT F97 81 HA% F97 3 % T &1

(Vi) 797 TEr 28 @ 30 TF &9 FTNT JIT 81 HAF FIT 5 9F F &

(vii) T To7-TF & 8 Fo7 § Sl A% F7a=d &1
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General Instructions :
(i) All questions are compulsory.
(ii) Marks for each question are indicated against it.

(iii) Question Nos. 1 to 15 are objective type questions. Each question carries

1 mark.

(iv) Question Nos. 16 to 21 are very short answer type questions. Each question

carries 2 marks.

(v) Question Nos. 22 to 27 are short answer type questions. Each question

carries 3 marks.

(Vi) Question No. 28 to 30 are long answer type questions. Each question carries

5 marks.

(vit) In this question paper internal choice is available in some questions.

gue - A
SECTION - A

(aegfrs 9%)

(Objective Type Questions)
et gt & @&l a3 Al = i ¢

Choose the correct answers of the following questions :

1. IR 0% FH-AREC e § 19 AF 971 o W@ &, @ Fa Fol a3y & S ? 1
(A) 12 (B) 13
(C) 14 (D) 15

If 19 teams are participating in a Knock-out Tournament, how many byes will be
given in total ?

A) 12 (B) 13
(C) 14 (D) 15
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2. PH-9 fdrgs § afewmel I gom S AR o o ?

(A) 1896 (B) 1900

(C) 1904 (D) 1908

In which Olympics did women participate for the first time ?
(A) 1896 (B) 1900

(C) 1904 (D) 1908

3. ‘RuRe 37 M=’ 5| & & Al 8 ?
() Wi B) fady sl
(C) R A (D) & § Fig &
'Spirit in Motion' is the motto of which sport ?
(A) Paralympics (B) Special Olympics

(C) Deaf Olympics (D) None of these
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4. 17 99 § fha=l dard foee & ? 1
(A) 4 e B) 63
(C) 9 A (D) 10 &

How many calories are obtained from 1 gram of fat ?
(A) 4 calories
(B) 6 calories
(C) 9 calories

(D) 10 calories

5. =g fhaar G & ? 1
(A) iy (B) fermie
(C) wiemsh (D) &® 9 &I 7@l

Strain is an injury to which of the following ?

(A) Bone (B) Ligament

(C) Muscle (D) None of these
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6. STEHIHEAICH AEHE HI e faewid e o ? 1
(A) P I (B) wil
(C) (D) !
Who developed Isokinetic exercises ?
(A) Kraus Weber (B) Plato
(C) Perrine (D) Ronaldo
R =it # g Frg -

Fill in the blanks :

 (RRUUR 1 o1, I TiarareEt ar e ¥ ¥ o gee & uRER & ofeX Tl ot B 1

............. refers to those activities or actions that are played within the premises

of an institution.

8 e P EEOH ER & &Y § ST A 2| 1

............. is known as a nitrogen diet.

9. .. TR % Afd G w9 9 ST afkd Bl 1

............ type of individual are more socially active.
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0% 9% A1 0F 59 9 I QT ¢

Answer in one word or a sentence :

10.

11.

12.

fo dto Rig fpe @@ & @it & 7 1

P. V. Sindhu is associated with which sport ?

g 99y ol & ST fhe o & ? 1

When were the first Special Olympics held ?

dlo THo HABo &l TOMT FHXA & 1 HiHal & 7 1

What is the formula for calculating BMI ?

et Ul 13, 14 U9 15 § gkg w99 U T § : iy (A) 3R &R (R) < T @
@&l faehed 1 =a HXd gY SE i

In the following questions 13, 14 & 15, there are two statements each : Assertion (A)

and Reason (R). Answer the questions by selecting the correct option given below :

13. ARERE (A) : SR, BFhel 4 e 9 2 1

HRT (R) : ST & 31eH H PR I=d & 919 2

fwT -

(A) STEEE (A) X BT (R) M T2l & T BT (R), ANHIT (A) P Tl AT B
(B) T (A) R BRT (R) IWT e &, Al BN (R), STAHAT (A) F T e &t 2
(C) IRrwET (A) T2 &, AP FROT (R) Tod Bl

(D) SARHET (A) AT &, AfRT HROT (R) T Rl
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Assertion (A) : Asthma is a disease related to the lungs.
Reason (R) : The cause of an asthma attack is high blood pressure.
Options :

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is correct, but Reason (R) is incorrect.

(D) Assertion (A) is incorrect, but Reason (R) is correct.

14. S (A) : 991, Th FedPCl g8 UV ad ol 1

FROT (R) : I8, ol & A B Bl ol

fwT -

A) IR (A) R FRT (R) AW T& & T BRI (R), ARG (A) B T e 2
(B) AR (A) R BRO (R) AF G&l &, QM BROT (R), TGN (A) H T A T8l B
(C) IRrwET (A) T2 &, AP FROT (R) Tod Bl

(D) SARHET (A) AT &, AfRT HROT (R) T Rl
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Assertion (A) : Fat is an important micronutrient.
Reason (R) : Fat is the main source of energy.
Options :

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is correct, but Reason (R) is incorrect.

(D) Assertion (A) is incorrect, but Reason (R) is correct.

15. ARHIT (A) : TR ARERT oaie 2T & o e B oFa} &l 3|1 W MR dam B A

HRT (R) : T ARERT § ¥ Tobs 37 & ARG At g @ X SR Bl 2
w -

(A) BT (A) R BROT (R) IMT T&l & T BRI (R), BT (A) B Tl ARAT 2
(B) T (A) R BRT (R) I e &, Al BN (R), STAHAT (A) H T e &t 2

(C) ARwET (A) T2 &, AP FROT (R) Tod Bl

(D) SARHET (A) AT &, AfRT HROT (R) T Rl
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Assertion (A) : External motivation is internal and depends on the individual's

desire.

Reason (R) : In external motivation, a person is motivated towards a goal by a

cash reward.
Options :

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct

explanation of Assertion (4).

(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not the

correct explanation of Assertion (A).
(C) Assertion (A) is correct, but Reason (R) is incorrect.

(D) Assertion (A) is incorrect, but Reason (R) is correct.

guE -
SECTION - B

(srforg Sl ue)

(Very Short Answer Type Questions)

16. 3T § 1 MM B ? 2

What is meant by Yoga ?

17. 4 x 10 WX 3 & IR & 989 & Ui ot 2

Briefly describe the process of 4 x 10 meter running.
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18. HIIE d 1 ALHE B ? 2

What is meant by contusion ?

19. =YY HT 7 FT T ? 2

What is the meaning of friction ?

20. T 7 Ghadl & [T - 59 YHR TeEd & 7 2

How does self-esteem help in success in sports ?

AYAT
OR
Hfd SRR & FaY # g i)
Briefly describe a balanced diet.
21. HEAH JRIECT =18 7P 2
What is Fartlek Training ?
AYAT
OR

HifST | o ad B 7
What is meant by seeding ?
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gE - g

SECTION - C
(g ST uw)

(Short Answer Type Questions)

22, 9RG # dfedrelt & Eal § AFER FXA G99 - gRadl & 9l ST 9S8 ¢ 3

What challenges are faced by women in sports participation in India ?

23. GSE P YT, T T Ol Geudl & avie i 3

Describe the process, benefits and contraindications of Bhujangasana.

24. AL R B AETHAT U Hexd B GAY § qUN it 3

Briefly describe the need and importance of inclusive education.

25, faafE & R 9ot & AW a3 feA-feT et @ fem ¥ ? 3

Name the different types of vitamins. From which substances are they

obtained ?
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26. STifE HA-STT TQET FHT qUN BT 3

Describe the Partial Curl-up test.

YqT
OR

e # AR e & @ Al & IarEr @fed auie dif

Describe the method of fixing byes in a tournament with an example.

27. T6d &% ¥ & ¢ Tal § 36H ST & &Y H IO iR 3

What is Centre of Gravity ? Briefly describe its use in sports.

YqT
OR

T & faer @ ffEt & gag § aue i

Briefly describe the methods of development of speed.
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guE - §
SECTION-D
(S I us)

(Long Answer Type Questions)

28. A A USSR AT § 1 AGE & ! 36D A9 g Bl B AU Bl 5

What is meant by a league or Round-Robin tournament ? Describe its

advantages and disadvantages.

3TeE
OR

a1 1 AT g il & [ gearacTeh A # g it

Describe corrective exercises for posture or asana related deformities.

29. T Y Hed & ? 36B PR, A0 3K SUAR H qUH i) 5

What is a Sprain ? Describe its causes, symptoms and treatment.

3TeE

OR

ARERET H IR HifTw ARERT &t fhet g Tl Hl ao i)

Define Motivation. Describe any five techniques of motivation.

2220/(Set : A)



(15) 2220/(Set : A)
30. =@ HE©T Ay @ fga avie #ivw 5

Describe the interval training method in detail.

3TeE
OR

TR 977 fhee UBR B B € ? 9% HIRON, W&l q9T SUEN T avH HifT

How many types of fractures are there ? Describe their causes, symptoms and
treatment.
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